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2022

PHILOSOPHY
[HONOURS]
Paper : VIII
Group— A & B
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Use separate answer sheet for each Group.

GROUP-A
(Philosophy of Religion)
[Marks : 50]
(= 8 @o)
1.  Answer any two questions: 1x2=2
@I g e bed vie ¢

a)  Who is the author of the book 'Totem and
Taboo'?

"Totem and Taboo' IZHA FT14F (F 2
b)  What is Totemism?

GIETam e
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c¢) What do you mean by evil?
Ste e 6 (e

d) Whatis Mang?

PCINE
e) Who is is the author the book "Primitive
Culture'?
"Primitive Culture" 5363 vfTe! Fe
Answer any five questions: 2x5=10

@I 266 e Teq wie ¢

a) Isthelaw of karma in Indian ethics conditional

or unconditional?

TS eI s 7w 5 *1Sorers fas wie=t
ICEICATRER:

b)  What is monotheism?
QI 52

c) What is revelation?
geyion 52

d) What is the difference between magic and

religion?
A & A A o
e) What is meant by yajrartha karma?

el 5 5 2



f)  What do you mean by free will?
A RIET! S [ @RI

g)  What is religion, according to Freud?
FRGH 0O ¥ 52

3. Answer any three questions: 6x3=18

@-ie ToaTB dos Tes wie ¢

a) What is the relation between magic and
religion?
Qi @ 4eta St 6 e 2

b) Can Moral Argument prove the existence of
God?
iow e 6 st wifwy astid Scs #I1e 2

c) Distinguish between Religion and
Comparative Religion.
3 G3R G O Sy A A 41 |

d)  What is philosophy of religion? Discuss, after
Hick.
afife] 5 2 BRI SIePIael S0 SAETH Sl |

e) Elucidate Carvaka arguments for disbelief in
existence of God.
PRIF IS SET wfery Raid gfesfs siEma
4|

92(A) [3] [Turn over]

Answer any two questions: 10x2=20

Q-G 7 20 Ted vie ¢

4.
a)
b)
c)
d)
92(A)

Explain and examine the ontological argument
for the existence of God.
R SGPTS Al Terelfes Ife ARkoE
I A |
What is the philosophical problem of the
conflicting truth claims made by different
religious traditions? How does Hick solve this
problem?
¥ o1ey epest fofen wlafera s fam s
wiffas il e o 2 ol @2 ema
AN AR 2
i)  Are good and evil contradictory in
religion? Discuss with reasons.
O ST 3R ST 15 S15iF e 2 gfeom
I A |

11)  Draw the distinction between subjective

evils and collective evils. How evils are

to be removed?

TSNS ST G FAB SRR A

A1y el 551 | PO oete] 721 a1 A0 2
'God of religion is nothing but infantile father
image'— Explain critically.
‘(1 5P PRI o1 2SI 2wt o1y fbg e —
STICETIOAT RN <TIRT <F |

[4]
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OR

What is cosmological argument? Do you think
that the cosmological argument as the proof
for the existence of god is sufficient? Give

reasons.

ey fare Ife 52 off & S 9 @ iaa
sy awity frees faees gfet o1 gfe e |

GROUP-B
(Western Logic)
[Marks : 50]
(N ¢ o)

Symbolise the following sentences in each using

the indicated symbol (any two): 1%x2=2

Feie el afs @wg Mme AFe Tz 929
T ARCFOIRTS T (@~ 75) ¢

a)  Who ever Alma loves , loves Alma (a : Alma

xLy :x loves y).
JITKC ST ST, Il SETCF ST |
b)  Socrates is wise. (S: Socrates Wx: X is wise)

G el |

c) Itisraining, and either snowing or blowing.

I 20, G T QI HTZ WA AP I3z |
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d) Both Sun and Moon are guilty if either is.

T e @ (IR 2 O A QIR I TR (N |
Answer any five questions: 2x5=10
(T-CHICA A 2oe Ted s ¢
a)  What is truth function? Give an example.

AN (62 @ Tuiggel wie |
b)  What is propositional function?

A0 B 2
¢) Distinction between sentence and statement.

I @ RYfex ey A<l 39 |
d)  What is bound variable? Give example.

TR 5 2 Trigge e |
e) Use Truth Tree Method to show that the

following is a logical truth:

FY

MR simfed aIl (vl @ fAFfee qawt 3@
Tife<s 7oy ¢

[H - (X) Mx] “ (X)(H - Mx)

f)  All self-contradictory statements are

equivalent. Give an example.

A 7-REH 2 TGS | Trigel v |



92(A)

g)

What is context dependent sentence? Give an

example.

EOTH-AICF A I A6 2 TWISFS WS |

Answer any three questions: 6x3=18
@It foa s e Tea wis ¢
a) Distinguish with example between truth

b)

functional and non-truth functional
connectives.

TG (215 G ST o47 (AETre N AL
B!

Explain why Truth Tree method is more
advantageous than Truth Table method. How
can the truth tree method be used to test
sentences for logical equivalent? Explain with
examples.

TEPIRA! (AT TP (e ARG 2 TN
Aaier AR Pl AR @fesel [blF w1
T 2 {BIGAR I 5 |

Determine by the truth tree method whether

the following sentences are consistent :
Both Crum and Moriarty are guilty, if either
is

If neither is guilty, then Holmes has not
bungled.

Unless Holems has bungled exactly one of

them is guilty.

[7] [Turn over]
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d)

ORI Siafed R el el Mnfaiie argafa
HQISLRATTIE

TN G2 T Tewz sk 2@ I @i g9
PIERIBIAC LRI

MW (FC-2 SR 1 2 O @ CNeTsIIeT AR
ol

RIS AW CaAleTsIIE =1 AP OT2e G [ (I,
sia) B 0% qvemz ol |

Explain with example the importance of

conjunction and disjunction of Truth Tree
Method.

AT R0 (G FANT €@ (T WPY
THIZETR 1T |

Draw circle or circles within rectangle and
represent the following sentences by shading

the empty regions: 2+2+2=6

SIOCH(ES o I6 SR AR %o S AS S
ZRIge S Fliie amafs dfozire % ¢

()A&B & C, (i) Av By C, (iii) A&(Bv C)

What are the functions of Truth Tree Method?
Explain.

oA Aaled e i 62 e 41



Test the following inferences for validity by Truth
Tree Method (any four):

5x4=20

eIl #lafs el 3 e sEimefers @ael [oa
39 (@I BrAfD) ¢

8.
a)
b)
c)
d)
e)
92(A)

(EIX) (Px % Qx)
(Elx) Pxv (EIX) Qx

Alma loves himself.

Alma's love is sometimes reciprocal.

ST e SR |

ST SRR P FANS A( G |

There is a man when all men despise.

At least one man despises himself

Moriarty will escape unless Holmes acts. We
shall rely on Watson only if Holmes does not
act. So, if Holmes does not act, Moriarty will

escape unless we rely on Watson.

I v 71 A Qe Sz wAiferca 2 | =
SBAHCR Go7 SH FACN (e AW @Y AlF
Tl 2 | oAk @ I Afew @1 A Az
sAiferca Tica T T SR eqitoeTR ok fea 57 |

Holmes, if anyone, can trap Moriarty.

Moriarty can trap himself.

Holmes can trap Moriarty.

[9] [Turn over]
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Answer any two of the following:

I @6 W @& T @ ANE, OE@ @A
WRIE Fo @ 10e |

T Fres Fw e PiE |
I ARG I (FeTCS M1 |

GROUP-B

(Vedanta)
(e )
[Marks : 50]
(N ¢ o)
1x2=2

Q-G 7 20 Ted vie ¢

a)

b)

c)

d)

What is ' Mahavakya '?

TR &5

What is anubandha?

e 2

What is meant by prayascitta ?

ARIf*oe TeCe & (@R e

How many mahavakya-s are admitted?

Foufe TR TFT I W@ ?

[10]



10. Answer any five of the following: 2x5=10

@-GFI Hofo arg Tea wie ¢

a)

b)

g)

92(A)

What is meant by adhyaropa ?
SIS IS F @R 2

What is meant by karmendriya? Name the

different karmendriya-s.

FeIE Fe10e 6 @R e [fen g srffaasfem
I |

What is called mangalacarana?
AFEAHE FICP 0T 2

Explain pancikarana .

AP FeTCo 1 @RI 2

Distinguish between vyasthi ajiana and

samasthi ajnana .
[T Sreal € AN Seaid e Ny o

Distinguish between upadanakarana and

nimittakarana .
T 1R @ e SRR ey 5o

What are the different parts of

savija samadhi ? Name them.

w3rer e serafe & 2 ol 1 99|

[11] [Turn over]

11. Answer any three of the following: 6x3=18
Q- FoB dra Tea mie ¢

a)

b)

d)

92(A)

What is the distinction between prajna

caitanya and turiya caitanya?

Ae (5o € 9 (FOCa 2Ny f[F 2

State and explain visaya and prayojana of

Vedantasara -
QWIS 3 @ ST S 7[dS i 4 |

What are the characteristics of jivanmukta?

Giced ol 52

Why is ' samastyupahitam caitanyam'referred
to as sutratma , Hiranyagarbha and prana?
TR o (B @, Raeere ¢ e
e wifeize a1 372

What is meant by vastu and avastu according

to Vedantasara? What is the significance of

regarding ajiiana as avastu?

QUIEHIT S € 8 O &0 F (@RI 2
SR SE T Sl 2
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Answer any two questions:

10%2=20

@I BB 23T bed mi ¢

a)

b)

d)

Distinction between svarupa laksana and
tatastha laksana . Also discuss in this
connection the reason for admitting

tatastha laksana .

T T '@ OB ST(CIR W) AT e 7 1 9%
ST OO FIFIC IS S 7 |

Explain the nature and effects of different

kinds of sakti of ajnana after Vedantasara .

ARG SFRICe] NGl *If e o1 7hel @ SRR
1T A |

Distinguish between Mahavakya and
Avantaravakya . How does the Mahavakya
"aham brahmasmi' make us aware of the

identity of Jjy, and Brahman? Explain. 2+8

AR € SIS A W ANy W 391
g AWT e G e IeE W Wcen
IR AT 2 [ 9 |

What is meant by samadhi? What are the

different anga-s of samadhi? Explain.

THifg Teice & @R e sifeg [fen smrac
e e 91

[Turn over]

GROUP-B

(Contemporary Indian Philosophy)

[Marks : 50]
(319 ¢ @o)

13. Answer any two of the following: 1x2=2

Q-G 7 20 Ted vie ¢

a)

b)

d)

92(A)

What is meant by 'devayana '?

‘TR A0S R e

What according to Rabindranath, the meaning
of religion?

AL T, & =g o 52

According to Rabindranath, man is the

combination of two natures. What are these

two natures?

ARG S0, A Wiz OF 12 O W@ | (18
i ol & 6 e

Sivajiiane jivaseba — Who said this?

‘el GRERN— 92 T2 F?
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Answer any five questions: 2x5=10
- TS 2 Tea s ¢
a)  Explain the real nature of man according to

b)

d)

Swami Vivekananda.
FI RS N0 IR &F© T 7] 4|

'Thus there are two tendencies in human
nature'— What are they? Explain after

Vivekananda.

T Sfaca 2l eRerel A — (1 gt & &ee
REPNE T SRpPIEe 63 A 4 |

yasya nama mahadasayah— Explain after
Rabindranath.

AT ST F T <1 vz T vt
3|

How does, according to Rabindranath, a man

can pass over the limitation of individual?

AALALAT SCS, PO N FFEANE SfoT™
FACO AT ?

What is practical Vedanta ? Answer after

Swami Vivekananda.

(N 2

[Turn over]
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What is Religion? Answer after Swami

Vivekananda.

FI e oo 4 52
g) How does Rabindranath distinguish between

man and animal?

AL FISIE ST QR NN T2y AL e 2
Answer any three of the following: 6x3=18
-1 FouifB e Tes e ¢
a) How does Rabindranath explain the term

b)

d)

'bhuma'?

THIE A FOICE I 0 2

Explain the term 'service' following

Vivekananda.

‘PRANR Sl R SIS 62
What according to Rabindranath is beauty?
IALAICLAR TS T I A 2

'Religion is an essential part of our life'— How
does Vivekananda explain this?

o MM GRED G5 RS oo — [eaplem
Jrei@ @it Ay = 2

What, according to Rabindranath, is the nature
of Religion? Discuss.

FIHNCAT O LA T B 2 A 4 |

[16]
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Answer any two of the following:

10x2=20

@I BB 23T bed mi ¢

a)

b)

d)

Briefly explain the significance of practical
vedanta following Vivekananda.

R SpPTel 0 AR (@WIed olesiy
IR 4|

Elucidate the 'Religion of man' following
Rabindranath Tagore.

AAHAI AT STPIR IR S 4 17 4 |

Discuss the nature of 'Universal Religion' as
propagated by Vivekananda. 10

RIS HE AT FF ALG GG T
B 9|

Elucidate the concept of liberation in the
philosophy of Rabindranath.

TR v i 1z i 54|

[Turn over]

17.
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Answer any two of the following:

GROUP-B
(The Problems of Philosophy)
[Marks : 50]
(= 8 @o)
1x2=2

Q-G 7 20 Ted vie ¢

a)

b)

d)

What is the basic difference between realism

and idealism?

TEAIM @ SRR S 61 A4 G2

Is there any knowledge in the world which is
so contain that no reasonable man could doubt
it? Who says this?

THI0S N Tl T BT T @FeTeld WHee a3k T9
HE (e [oTaie fes Jo g 0o
AR T2 TS (F2

'Idea is something in somebody's mind'— who
are the propounders of this doctrine? Realist
or Idealist?

‘YN BT T FIE T SRS — 93 Teqmiv
IV ? IBAMWS L SRAA T 2

What does Russell mean by sense data?

3frm-Bolle FeTre AT F IR 2

[18]
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Answer any five of the following: 2x5=10 19.
(T-(HIAI 2Hofs v Teg s ¢
a)  Distinguish between sense-data and sensation.

3fer ol @ FfaRITeEE (ov e 9 |
b)  What is knowledge, according to Russell?

AT S @ (52
c) Define idealism.

ORI HICF =1 2
d) What is apriori knowledge?

AFSTE Sl I A0 2
e) What is the main importance of descriptive

knowledge?

AT IR 2L @3 5 2 20,
f)  How does Rabindranath distinguish between

man and animal?

AL FSI ST AR 2NV Sy A1 0 2
g) What are the sources of our knowledge,

according to Russell?

ANCIET S ST @I Tl 6 e

[19]
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Answer any three of the following: 6x3=18

@I Forfb aoss Teg e ¢
a)  What "according to Russell" is knowledge by

acquaintance?

AT 30, Afbfogere s 62

b) Distinguish between existence and
subsistence.
S G G A /14 T |

c¢)  What is meant by uniformities of nature?

gFfe aFzrel A s I @RI 2

d) How does Russell distinguish between
appearance and reality?

AT PO SRS € eI N /14 A2 ?
Answer any two of the following: 10x2=20

Q-G 7 20 Ted vie ¢

a)  How can we justify the principle of induction?

Explain after Rusell.

e e Tl SNl RvEeeiE AN
A0S A2 2 AT SRPIRe I TSI ST
4|

b)  Explain Rusell's view regarding knowledge,

error and probable opinion.

[20]



92(A)

d)

@I, I € AV T HF AT oo
IO 9 |

Discuss, after Russell, different means of
acquiring the knowledge of universal.

W AN @ AT SARSR T
SR I AT R |

What is truth? Explain, after Russell, the nature
of truth. 2+8

Aorel 2 AERIE PR T ACOTF a5
A A |



